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: Grey line: exponential fit Peak flux: 6.595+/- 0.894 c/s/cm? :
L Black line: power law + gauss fit Fluence : 49.52+/- 6.18 c/cm? |
| Dashed line: power law o ) ’ ]
B Duration: 17.35+/- 2.94s |
L Best fit model: 1. |
- Best fluence model: 1. -
— ‘ Best duration model: 1. —
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; Exponential fit é
= Expon.time: 4.84+/- 0.72s (chi*red= 1.04) 3
ST b il 1 bt g AL b e o
-~ ﬂﬂw ﬁ W ﬁ# ﬁ Mﬂ {W ﬁ i ﬁﬁ i WH%HJH +mWHHHT% Nﬂmﬁﬂﬁﬁ ﬁﬁﬂﬂﬁﬁw #Hmﬁmﬂ m :ﬁﬂ I ﬁ it ﬁﬂ ﬂﬂ HJMMHH Hﬁ f HWH hy w *ﬁﬁﬂm{ﬂww Mﬂﬁﬂ ﬁﬁﬁwﬁ *&H‘tﬁ
= | =
; Power law fit é
= Power law index: -2.043+/- 0.221 (chi’-red= 1.03) 3
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—  Power law fit plus Gaussian (st.dev.= 29.16+/- 9.78 s, fracgs= 0.14+/- 0.04) =
= Power law index: -2.498+/- 0.196 (chi’-red= 1.03) 3
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